Do you think OECD governments are taking adequate measures to support the

construction of parallel value chains for the energy transition?

Interventions are raising costs for end-users
without addressing supply gaps sufficiently

Support measures are undercut by growing
scrutiny of partnership with Chinese firms/IP

Measures improve investment returns or
economics, but fail to provide adequate demand

Interventions are pointless in the face
of market gluts

Measures are adequate to de-risk
Investment and bring In capital
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